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| Time: 10 Minutes | Paper Math 8(T-5) |  Total Marks: 10 |
| 6th Month, 3rd Week, 5th Day | Ex. 5.5 Q #(18,19,20,21) |
¥ Answer the following questions: (2 x 5=10) - ;,.,lzé.;,mnj" 310%)

(i) A shopkepper has 100 shirts 40 are of red colour, 30 are of green colour,
20 are of black colour and 10 are of blue colour. A shirt is chosen at
random by the customer. After replacing it, a second shirt is chosen.
What is the probability of choosing?

(a) ared colour shirt and a black colour shirt (in same order)
(b) agreen colour shirt and a blue colour shirt (in my order)

(d) ared colour shirt and a green colour shirt (in any order)
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(ii) Zainab rolled a dice 2 times.
(a) List all the possible outcomes y using table and tree diagram.
(b) Also calculate the probability of getting:

(i) Exactly two 6's (ii) Exactly two 4's
(iii) At least once time 4.
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(ii) Zainab rolled a dice 2 times.
(a) List all the possible outcomes y using table and tree diagram.
(b) Also calculate the probability of getting:

(i) Exactly two 6's (ii) Exactly two 4's
(iii) At least once time 4.
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